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Chapter 9 Gifted and Enrichment Answers

1. a) Let a represent the cost of admission for an adult, 
and let c represent the cost of admission for a 
child, both in dollars.
11c + 2a = 120.5
#1

7c + 3a = 100

#2
b) Multiply equation #1 by 3, and multiply equation #2 by 2, and then subtract:
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Substitute c = 8.5 into equation #2:
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The cost of admission for an adult is $13.50 and 
for a child it is $8.50.

2. Let x represent the mass of dried cranberries, and let y represent the mass of raisins, both in kilograms.

y = 3.5x




#1

18.5x + 5.5y = 264.25

#2
Substitute equation #1 into equation #2:
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Substitute x = 7 into equation #1:

y = 3.5x
y = 3.5(7)

y = 24.5

Adam and Tanya need to buy 7 kg of dried 
cranberries and 24.5 kg of raisins for the snack bars.

3. Substitute x = 2 and y = –1 into each equation:
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Multiply equation #1 by 3, and add to equation #2:
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Substitute a = –2 into equation #1:
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The ordered pair (2, –1) is the solution for the linear system when a = –2 and b = 3.

4. a) Let x represent the cost of peak time, in dollars per 
minute, and let y represent the cost of non-peak 
time, in dollars per minute.
45x + 50y = 37.25
#1

70x + 30y = 46 

#2
b) Multiply equation #1 by 3 and multiply equation #2 by 5, and then subtract:
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Substitute x = 0.55 into equation #2:
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The peak-time charge is $0.55/min, and the non-
peak charge is $0.25/min.

5. a) z = 2x + 3y – 17

#1
y = –3z – 7


#2
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Substitute equations #2 and #3 into equation #1:
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Substitute z = –4 into equation #3:
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Substitute z = –4 into equation #2:

y = –3z – 7

y = –3(–4) – 7

y = 5

The solution to this linear system is x = –1, 
y = 5, and z = –4.
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